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TRIGONOMETRIC EQUATIONS

Equation nterval in which General solution

principal solution

lies

Sin6 =k O=nn+(-1)a
(-1<k<0) [—(n/2), 7/2] nez

Cos 6=k 0=2nnta
-1<k<0) [0, 1] nez

Tan 6 =k O=nn+aq
(keR) [H(/2), w/2] nez

The solution of sind = k ([k|<1) lying between —g andg is called the principle solution of

the equation.

The solution of cosB = k (|k|=1) lying between 0 and = is called the principal solution of the

equation.

That solution of tanf = k, lying between —g andg is called the principal solution of the
equation.

The general value of 0 satisfying cosO = k (|k| < 1) is given by 0 = 2nw + oo where neZ.

The general value of © satisfying sin® =k (|k|< 1) is given by 6 =nn + (-1)" o where neZ.

The general value of 0 satisfying tan® = k is given by 0 = nn + o where n € Z. (in each of the

above cases, a is the principal solution).

If sin@ = k, tan@ = k are given equations, then the general value of 0 is given by

0 =2nm + o where a is that solution lying between 0 and 2.
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9. The equation a cos® + b sin@ = ¢ will have no solution or will be inconsistent if

lc| > va? +b?

10.  If sinA = sinB and cosA = cosB, then sin =0 and A =2nn + B.

11.  cosnn=(-1)", sinnn=0.

12.  Ifsin®0 = sin’a or cos’0 = cos’a. or tan’0 = tan’a, then 0 = n + o; neZ.

www.sakshieducation.com



	TRIGONOMETRIC EQUATIONS. 1.pdf
	TRIGONOMETRIC EQUATIONS. 2.pdf

